



**LOS ANGELES AREA**  
CHAMBER OF COMMERCE

# CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO [VERIFY.FTGS.US](http://VERIFY.FTGS.US) Certificate Number : **LA-COO-70910-6985e59ce6879**  
Date : **February 06, 2026**

<b>Seller (Exporter)</b> SED PHARMA INC(DBA: INNOVA NUTRA) 1500 South Milliken Avenue Ontario California 91761 United States	<b>Transport Type</b> Air	<b>Port of Loading</b> Ontario
	<b>Destination Country</b> China	<b>Destination Port</b> Yiwu City
	<b>Export Date</b> *****	<b>Exporting Carrier</b> *****
<b>Consignee</b> WENDATONG TRADE CO.LIMITED ROOM 602,6/F,KAI YUE COMMERCIAL BUILDING,NO.2C,ARGRLE STREET, MONGKOK KOWLOON Hong Kong	<b>Import Permit Number</b> *****	<b>Bill of Lading / AWB</b> *****
	<b>Owner or Agent</b> *****	<b>Forwarding Agent</b> *****
	<b>Remarks</b>	
<b>Buyer (Importer)</b>		

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
NOOBO Calcium + Vitamin D3 + K2 700mg Calcium Per Serving	3235.4 kg	United States
NOOBO Lutein 40mg Per Serving	203.93 kg	United States
=====end of products=====	=====	=====



Name of Authorized Trade Association



*Ben Samia*



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
- The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- The Applicant is authorized to give the undertakings set out herein.

Authorized Signature **Ben Samia**

# INVOICE

**SED PHARMA INC**  
1500 Milliken Ave  
Ste B  
Ontario, CA 91761

ZUNYI.LIN@SEDPHARMA.COM  
+1 (908) 220-0697  
<https://www.sedpharma.com>



### Bill to

WENDATONG TRADE CO.LIMITED  
ROOM 602 , 6/F , KAI YUE COMMERCIAL  
BUILDING , NO.2C , ARGRL STREET ,  
MONGKOK KOWLOON , HONG KONG

### Ship to

WENDATONG TRADE CO.LIMITED  
ROOM 602 , 6/F , KAI YUE COMMERCIAL  
BUILDING , NO.2C , ARGRL STREET ,  
MONGKOK KOWLOON , HONG KONG

### Shipping info

Ship date: 12/11/2025

### Invoice details

Invoice no.: 1448  
Terms: Due on receipt  
Invoice date: 10/13/2025  
Due date: 12/16/2025

Sales Rep: Chloe Liu

Order Number: SED-USA-LSH-004

#	Product or service	SKU	Description	Qty	Rate	Amount
1.	<b>NOOBO Horny Goat Weed Complex Capsules</b>	WTTL-251010-0001	Servings per bottle: 30 Serving size: 2 Formula mg/cap Maca powder----21.5 Horny Goat Weed (Epimedium)----10 Tongkat Ali ----5 L-Arginine----112.5 VitaminB6(as Pyridoxine HCl)----2.5 Vitamin B12----1mcg Zinc ----10 Chromium----62.5 Blend-----17 Black Pepper Extract Panax Ginseng Extract LOT: B3A8701 EXP:12/2028 MFG provide: all raw materials, excipients, desiccants, #0 white HPMC capsule, 200CC dark amber PET bottle with 38mm white Push-to-turn cap, capsule filing & bottling services and packaging services, shiny film labels	12000	\$2.10	\$25,200.00
2.	<b>NOOBO White Kidney Bean Capsules</b>	WTTL-251010-0002	NOOBO White Kidney Bean Capsules 150 capsules Capsule Count: 150 Serving size: 1 Formula mg/cap White Kidney Bean Extract (Extract Ratio 20:1)----300	2000	\$3.04	\$6,080.00



LA-C00-70910-6985e59ce6879 / February 06, 2026

LOT: B3A9701  
EXP:12/2028

MFG Provide: all raw materials,  
excipients, desiccants, , #0 white  
HPMC capsule, 250CC dark amber  
PET bottle with 45mm white Push-to-  
turn cap, capsule filing & bottling  
services and packaging services,  
shiny flim labels.

3. **NOOBO MULTIVITAMIN** WTTL-250922- Count per bot150caps 5000 \$3.10 \$15,500.00

0003  
Formula(mg/cap):  
Vitamin A Acetate 100% 0.3mg  
Vitamin C Ascorbic Acid 100% 50mg  
Vitamin D Cholecalciferol 100% 0.01mg  
Vitamin E dl-alpha-Tocopheryl Acetate  
50% powder 10mg  
Vitamin K MK-7 99% 0.015mg  
Vitamin B1 Thiamine Mononitrate  
Powder 99% 1mg  
Vitamin B2 Riboflavin 98% Powder  
1mg  
Vitamin B6 Pyridoxine Hydrochloride  
(HCl) Powder 99% 1.5mg  
Vitamin B12 Mecobalamin 1% 0.2mg  
Selenium(Selenium Yeast 0.1%) 30mg  
Calcium(Calcium Carbonate Powder)  
120mg  
Zinc(Zinc Oxide 54%) 9.259259259mg  
Chromium(Chromium Picolinate 12% )  
0.166666667mg  
Copper(Copper Gluconate) 100%  
0.09mg  
Biotin 99% 0.02mg  
MFG Provide: all raw materials,  
excipients, desiccants, , #0 HPMC  
white capsule, 250CC dark amber PET  
bottle with 45mm white Push-to-turn  
cap,  
capsule filing & labeling services and  
packaging services, shiny flim labels.  
Not include: any shipping fee & 3rd lab  
testing fee. No need neck band.  
LOT: B3AA701  
EXP:12/2028

4. **NOOBO Turmeric Curcumin Capsules 60 Counts** WTTL-250811- Count per bot:60caps 5000 \$2.54 \$12,700.00

0002  
Ingredient Name | Content per Capsule  
(mg)  
Turmeric Extract | 500  
Black Pepper Extract | 10  
Zinc | 6  
Curcumin | 5

MFG Provide: all raw materials,  
excipients, desiccants, , #00 HPMC  
capsule, 200CC BLACK PET  
bottle with 38mm white Push-to-turn  
cap,  
capsule filing & bottling services and



packaging services, shiny flim labels.

Not include: any shipping fee & 3rd lab testing fee.

LOT: B3AB701  
EXP:12/2028

---

5. <b>NOOBO Lutein Capsules 40mg Per Serving</b>	WTTL-251010-0003	NOOBO Lutein Capsules (60 capsules) Servings per bottle: 30 Serving size: 2 Ingredient Name mg/cap Lutein (Marigold Extract)----20 Zeaxanthin-----4 Blueberry Extract-----1 Vitamin A-----0.4 Vitamin B6-----1 Vitamin C-----1 Zinc-----1	3000	\$2.53	\$7,590.00
MFG Provide: all raw materials, excipients, desiccants, , #0 orange gelatin capsule, 200CC dark amber PET bottle with white Push-to-turn cap, capsule filing & bottling services and packaging services, matte flim labels.					
LOT: B3AC701 EXP: 12/2028					

---

<b>Total</b>	<b>\$67,070.00</b>
Deposit	\$26,828.00
<b>Balance due</b>	<b>\$40,242.00</b>

---



# INVOICE

SED PHARMA INC  
1500 Milliken Ave  
Ste B  
Ontario, CA 91761

ZUNYI.LIN@SEDPHARMA.COM  
+1 (908) 220-0697  
<https://www.sedpharma.com>



**Bill to**  
WENDATONG TRADE CO.LIMITED  
ROOM 602 , 6/F , KAI YUE COMMERCIAL  
BUILDING , NO.2C , ARGRL STREET ,  
MONGKOK KOWLOON , HONG KONG

**Ship to**  
pick up

### Invoice details

Invoice no.: 260127  
Terms: Due on receipt  
Invoice date: 01/27/2026  
Due date: 01/27/2026

Sales Rep: Chloe Liu

#	Product or service	SKU	Description	Qty	Rate	Amount
1.	<b>NOOBO Lutein Capsules (60 capsules) - Tmall Edition</b>	WTTL-250723-0003	NOOBO 黄素胶囊 60粒 ( 天猫款 ) NOOBO Lutein Capsules (60 capsules) - Tmall Edition  原料名称 / Ingredient Name Capsule (mg) 叶黄素 ( 万寿菊提取物 ) / Lutein (Marigold Extract)---10 玉米黄质 / Zeaxanthin----2 蓝莓提取物 / Blueberry Extract ----1 混合物 ( 维生素A、B6、C、锌 ) / Mixture (Vitamin A, B6, C, Zinc)----3.4  MFG Provide: all raw materials, excipients, 0.5g*2 desiccants, , #0 orange gelatin capsule, 200CC BLACK PET bottle with white Push-to-turn cap, capsule filing & bottling services and packaging services, matte flim labels. LOT: B3CB701 EXP: 01/2026	22983	\$2.00	\$45,966.00
2.	<b>NOOBO Men's Vitality</b>	WTTL-251010-0001	Servings per bottle: 30 Serving size: 2 Formula mg/cap Maca powder----21.5 Horny Goat Weed (Epimedium)----10 Tongkat Ali ----5 L-Arginine----112.5 VitaminB6(as Pyridoxine HCl)----2.5	15000	\$1.80	\$27,000.00



LA-C00-70910-6985e59ce6879 / February 06, 2026

Vitamin B12----1mcg  
 Zinc ----10  
 Chromium----62.5  
 Blend-----17  
 Black Pepper Extract  
 Panax Ginseng Extract  
 LOT: B3CE701  
 EXP: 01/2026  
 MFG provide: all raw materials,  
 excipients, 0.5g\*2 desiccants, #0 white  
 HPMC capsule, 200CC dark amber  
 PET bottle with white Push-to-turn cap,  
 capsule filing & bottling services and  
 packaging services, shiny film labels

3. **NOOBO CURCUMIN Optimizes Utilization**      WTTL-250811-0002      Count per bot:60caps      15000      \$2.00      \$30,000.00

Ingredient Name | Content per Capsule (mg)  
 Turmeric Extract | 500  
 Black Pepper Extract | 10  
 Zinc | 6  
 Curcumin | 5

Lot:B3CD701  
 EXP:01/2026

MFG Provide: all raw materials,  
 excipients, 0.5g\*2 desiccants, , #00  
 HPMC capsule, 200CC BLACK PET  
 bottle with white Push-to-turn cap,  
 capsule filing & bottling services and  
 packaging services, shiny flim labels.

Not include: any shipping fee & 3rd lab testing fee.

4. **NOOBO Calcium Vitamin D3+K2 700mg Calcium per serving**      WTTL-251113-0001      Product: NOOBO Calcium Vitamin D3+K2      15000      \$3.30      \$49,500.00

Servings per Container: 90 Capsules  
 Mg per Capsule:  
 Calcium (as Calcium Carbonate 825mg and Calcium Citrate 100mg) ---- 350 mg  
 Vitamin K2 ---- 0.075 mg (75 mcg)  
 Vitamin D3 ---- 0.0025 mg (2.5 mcg / 100 IU)  
 Excipient List: Soybean Oil, Gelatin, Glycerin, Purified Water, Soy Lecithin, Titanium Dioxide, Beeswax

Lot:B3CC701  
 EXP:01/2026

MFG Provide: all raw materials,  
 excipients, desiccants, , 250CC dark amber  
 PET bottle with 45mm white Push-to-turn cap, softgels filing & bottling services and packaging services, shiny flim labels.



5.

NOOBO Quercetin 60capsule	WTTL-250922-0004	Quercetin Dihydrate powder 95% 150mg Citrus Bioflavonoids (98%)50mg Rutin1mg Thyme Extract1mg Echinacea Extract 2mg Bromelain0.5mg Curcumin 95% 0.5mg Zinc Oxide0.5mg L-Selenomethionine 0.5mg	5000	\$2.10	\$10,500.00
		Lot: B3C8701 EXP:01/2026			
		MFG Provide: all raw materials, excipients, 0.5g*2 desiccants, , #0 HPMC capsule, 200CC BLACK PET bottle with white Push-to-turn cap, capsule filing & bottling services and packaging services, shiny flim labels.			
		Not include: any shipping fee & 3rd lab testing fee.			
6. NOOBO Nattokinase Capsules (60 capsules)	WTTL-250723-0005	NOOBO纳豆激酶胶囊 60粒 NOOBO Nattokinase Capsules (60 capsules)	5076	\$3.00	\$15,228.00
		原料名称 / Ingredient Name Content per Capsule (mg) 纳豆蔻酶 : 4000FU / Nattokinase: 4000FU----50 红曲粉 / Red Yeast Rice Powder----5 黑蒜提取物 / Black Garlic Extract----2			
		Lot:B3CE701 EXP:01/2026			
		MFG Provide: all raw materials, excipients, 0.5g*2 desiccants, #0 white HPMC capsule, 200CC BLACK PET bottle with white Push-to-turn cap, capsule filing & bottling services and packaging services, shiny flim labels.			
7. NOOBO Skin Beauty	WTTL-251113-0002	NOOBO Skin Beauty 120cap/bottle Alpha Lipoic Acid (ALA)----50mg/cap olive leaf extract----5mg/cap Niacinamide-----2mg/cap VC --10mg/cap Zinc citrate ----3mg/cap Copper (as Copper Gluconate-12%)--- -0.1/cap 胶原蛋白肽Collegan peptide--- -5mg/cap	3960	\$2.63	\$10,414.80
		MFG Provide: all raw materials, excipients, 0.5g*2 desiccants, , #0 white HPMC capsule, 250CC dark amber PET bottle with 45mm white Push-to- turn cap, capsule filing & bottling services and packaging services, shiny flim labels			



Lot:B3CE701  
EXP:01/2026

**Total** **\$188,608.80**

Payment -\$76,173.00

**Balance due** **\$112,435.80**

**Overdue** 12/31/2025

			原订单数量	单价	总价	已付定金	实际出货	实际总金额	尾款
1538	NOOBO Lutein Capsules (60 capsules) - Tmall Edition	NOOBO 叶黄素胶囊 天猫款	24000	2	48000	19200	22983	45966	26766
1538	NOOBO CURCUMIN Optimizes Utilization	NOOBO 姜黄素胶囊	15000	2	30000	12000	15000	30000	18000
1538	NOOBO Skin Beauty	NOOBO 抗糖丸胶囊	4000	2.63	10520	4208	3960	10414.8	6206.8
			原订单数量	单价	总价	已付定金	实际出货	实际总金额	尾款
1538	NOOBO Nattokinase Capsules (60 capsules)	NOOBO纳豆激酶4000FU60粒/瓶	5000	3	15000	6000	5076	15228	9228
1538	NOOBO Men's Vitality	NOOBO淫羊藿胶囊60粒/瓶	15000	1.8	27000	10800	12172	21909.6	11109.6
									尾款
									71310.4

年会赞助\$2000；本单尾款：\$69310.4

